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Part-a
GENERAL INTELLIGENCE

Directions : In Question Nos. 1 to 5,
selbct the related letter/word/number from

the given alternatives.
/ Temple Ear ; Shoulder : Hand ;
(A) Llp (B) Tongue

(C) Vein (D) Tooth

/ Pea-hen : Pea-cock : : Bitch : ?
(A) He-elephant (B) Mongoose

(C) Dog (D) Wolf
J/ DEVIL : ABSFI : : OTHER: ?
(A) MREFCP (B) RWKHU
(C) LQEBO (D) LRECO
4.  Manipuri : Manipur : : Kathakali: ?
(A) Karnataka
(B) Tamil Nadu
(C) Kerala y
(D) Andhra Pradesh &
\5./ Teacher : Student : : Pontiff : ? %
- (A) Disciple (B) E &
(C) Priest \l'
\/ﬁ. What is once in ;::_35 EN, twice a
PAPER and thrice in PEPPE :
(A) E P
\J/ If SUPER =79, SUPREME = 97,
?
2Rl o

(D) 49

{aN l
+In Question Nos. 8 to 14, find
h is different from the rest

(B) Goat

100

~ e

\}2/.. (A) Ant . (B) Spider
(C) Bee C“ (D) Moth

(A) 8/9 ) “16/64

(A) Krishna CB) Cauvery
(C) Narmada %

) May® (B) -&Tlme
© Jys (D) Augsty

© 32k ) 64136 ©
Ay 1201 (B) 2011
472012 (D) 2013

rections : Jn Question Nos. 15 to 19,

series is given, with one term missing.

16.

17.

s the correct alternative from the
iven ones tl?at will complete the series.

= e

257121931 . 81

(A) 30 “® 40
© %  ©
_,_,;sq :212::5,9::4,
@y s - &5
© 10 (D) 11
L PPN ety 5
375,6,11,9,17,12, _2__
A) 20 ®) 10
© 22 (D) 23
2.1,2=5

3,1,1 =4

7,3,1=1

(A) 0 (B) 4



: 3( Which one of the following is the
sequential order of colours in
Rainbow ?

1. Red 2. Green
3. Violet 4, Yellow
5.  Orange

(A) 3,2451 (B) 43,251
© 34215 @O 25413

% If the numbers starting with 944 are

BSNL numbers, how many BSNL
numbers are there in the below series ?
948554 944251 944189 943525 944185
932511 944285 985128 944424 924785
944325 946895 947895 944242 944944
(A) 8 B) 7

© 6 D) 5
\}{ Which of the following words appear
first in a dictionary ?
(A) Improve (B) Impressih

(C) Imprint (D) Impugs™ .

» Arrange the following words as per

order in the dictionary :

1. Detach 2. 4 Devise
3. Denote 4. | Digest
5.  Depict

(A) 54,3,2,17®) 351,24
) 3,21,54 @) 5241,3
. Arrange ‘the” * following  in
chroenological order:
. 8. Radhakrishnan
Rajendra Prasad
Giani Zail Singh |
V.V. Giri
A.PJ. Abdul Kalam
2,1,4,5,3 «B) 2,1,3,4,5

AON2.1,4,3,5 (D) 21543

o svn

25.,, Which one set of letters when

sequentially placed at the gaps in the
given letter series shall complete it ?
_fgg _eg _eeff _ef gg

(A) eefge (B) fegef
(C) efege (D) fgege

< 9
Directions : In Question Nos. 26-and
select the wrong number in the sefies.

—

6 “i" p_\t’ {

h N

P X6 7@%&

2 '\y

€3 4T = -

% A
6, 18, 36, 108, 216, 648, 1290, 3888,
(A) 36 B) 108
(©). 129 ) 648
3,"5,‘séuj1,17, 23m,

® 1
(©) 17 %’)) 23

(A)

A bo% walks northwards. After a
while he turns towards his right and a
littE Jdurther to_his left. Finally after
Wi g a distance of one kilometre,
he tums te his left again. In which

irection he is moving now ?
(A) North (B) South

~ (C) Fast (D) West
. “The following address has been

reproduced against (A), (B), (C) and
(D), three of which have some
mistakes or the other. Choose the one
without any mistake.
Dr. C.V.R. Ramaswamy °
19, Babanasam Street
Airport Road, Lawspet
Puducherry — 635124
(A) Dr%.V.R. Ramaswamy
19, Babanasam Street
Ai?ort Road, Lawspet -
Pu. ucher{;v - 653124
(B) DR.C.R.V. Ramaswamy
19, Babanasan Street

Road, Lawspet ¢
Puguchen'y — 635124

(C) Dr. C.V.R. Ramaswamy
19, Babanasam Streegs

Anaaor[ Road, Lawspet -~
Puducherry - 63515
(D) Dr. C.V.R. Ramaswamy

19, Babanasam Street = -

Al gjort Road, Lawspet

Puducherry — 635 1%
From the given alternatives, select the
word which cannot be formed using
the letters of the given word.
e e o
(A ou G M
(C) Thomy»~ (D) Though -




~

o

31. If ‘Vocation™ 1is written as
‘Catroovn’, ‘Guidance’ is written as
(A) Idanucge (B) Idancueg
(C) Uidanucg (D) Guiadnuc

3 In a code language, the following
alphabets are coded in a particular
way :

ABCDEFGHIRST .
ti=>01IHT+FAAE A7

Which word can be coded as
EFHIA?

(A) TIGER (B) TRIGER

(C)q, TIC;HT EP) 1FIGHT

33. If 52 x 45 = 30, '?%-x 21 = 23 and
84 x 52 = 42, then 62 x 43 = ?
(A) 20 (B) 24
(C) 30 (D) 32

If BET = ROD, CAN = SIM and
MUG:LAN“"W%%N:? S
(A) LOM OLM
(C) MOL (D) LMO

. In a code language, the following
alphabets are coded in a particular
way :

ABCDEFGHI J K LMN
1234567 89 10441 12 13 14
Find out the word ‘with the given

code 2, 1, 1444, 4
(A) BEND (%% FEND
(C) BAND. . (D) HAND

\;6./ The following data shows the game

level and its,scores.” Find out the

score for the 6" level :

Level > 112, 3 4 5 6
Sootes 2> 4% 8145 22 7
(A) 24 (B) 32
© 4 (D) 52

370 If» AMPLIFIER is coded as
CORNKHKGT, then QGELYJ is

b2
w

Directions : In Question Nos. 38 & 39,

one/two statements are given, followed by

two conclusions I and II. You have. to

consider the statements to be true even if

they seem to be at variance from

commonly known facts. You ‘have to

decide which of the given con¢lusions, if"
any, follow from the given statements.

Statement : Finanée  companies
collapse due to mismanagement.
Conclusions: I. Even . good
management cannot run finance
companies vlvlzth success.
o L Proper management ./
can/ :ﬁe’fp finanée companies to
alld

thive.
(A) Both conclusions I and II
4. follow.
(B), Neither conclusion I nor II follow.
. (C) 1, Only conclusion I follows.
w ) k"@nly conclusion II follows..
). Statements : 1. Sohan is a good
- 3 sportsman.
£ sportsmen are
healthy. -
healthy

Conclusions :1. All
persons are sportsmen.™
II. Sohan is healthys~
(Ag Only conclusion [ follows.
(B) Only conclusion II follows.
g Either conclusion I or II follows.
) Neither conclusion I nor II
follows.

40. Two trains A and B running at
60 kmph and 40 kmph respectively
in opposite directions from stations
X and Y 200 km apart will cross or
collide at a moment exactly after
(A) 1 hour and 30 minutes
(B) 3 hours and 20 minutes
(C) 2hours

J{ (D) 2 hours and 30 minutes

Ram was born on 29" February. He
celebrated his birthday falling on
exactly 29" February 2008 for the
fourth time. In which year he was

coded as what ? born ?

(A) RHFMZK (B) RHFNAL (A; 1992 (B) 2004

(C) SIGNAL (D) SIGMZK (C) 2000 (D) 1996
SPACE FOR ROUGH WORK

P



the given

In diagram, circle
E:Bresents athletes, square represents

men and triangle represents bank
officers. Which region represents
bank officers who are athletes ?

)
M fp 2
L

(A) Pand M
© Q

(B)
(D)

P
Pand Q

Which of the answer figures is the
mirror image of the given figure if
the mirror is held at AB ?

Question Figure :
A B
Answer Figures :

@& ® (© [ O
Which figure is different from the rest 7
v VI|IA Al v > >
vV  VIA AllAL Al >

(A) ®) (&) (D)

A square transparent sheet with a
pattern..i8, given. ‘Figure out from
amonﬁlst the four alternatives as to
how the

pattern would ztl_pPea.r when
the transparent sheet is folded along
the marked line ?

line ?

Question Figure :

. Answer Figures :

A |l XX

7=

(A) (B)

©

~"46. Which answer figure will complete
' the pattern in the question figure ?

Question figure :

h %
Dtb?oﬂ! In Questions Nos. 47 & 48,
‘which answer figure will come next in the
series of question figures ?

J{ Question Figures :

A= % =% 0 * O ->

o->ol|llag>|{l|l=AD ‘
Answer Figures :
=x0||/[[o>4]l||[o=>n]]||[*on

>0 A =x0Of||l|*=a4 = A -

(A) @ O O

ﬁ/ Question Figures :




49. A sheet of paper is folded in a
particular manner, punched once and
then unfolded. The punched, unfolded
paper appears as in the given figure.
Find out the manner in which the
paper was folded and punched by
choosing the correct answer.

Question Figure :

Answer Figures :

w1 i ||

A B (© (D)

50. A word is represented by only one
set of numbers as given in any one of
the alternatives. The sets of numbers
given in the alternatives = are
represented by two classes of
alphabets as in two matrices given
below. The columns and rows of
Matrix [ are numbered from 0 to 4
and that of Matrix II are pumbered
from 5 to 9. A letter from these:
matrices can be represented first by
its row and next by.its column, e.g.,
F can be represented by 14, 21, etc
and E can be represented by 20, 32,
etc. Similarly, you haye 10 identify
the set for the word * -

Matris 1 . MatrixII

ofr| 2134 slef7]8]9
O|DYTE|F|IIN] |s|o|P|R|S|T
#_*1 NID|E{|F 6|S|T|O|P|R
2B F| TIN|D 7|P|R|S|T|O
IINID|E|F|1I 8|T|O|P[R|S
q|F|lT|N|D|E g|rR|S|T|O|P
(A) 57, 20, 96, 98
(B) 69,01, 58, 68
(C) 95, 44,96, 98
(D) 76, 01, 65,59

FOR VISUALLY HANDICAPPED
' CANDIDATES ONLY
Directions : In Question Nos. 42 to 45, a
series 1S given, with one term missing.
Choose the correct alternative (from the
given ones that will complete the series.
42, 37,47,58,2,79,95 _
(A) 71 (B) 6941(C)u68 (D) 67
43. 128, ?7,82,62,44,28
(A) 99 (B) 104C) 109 (D) 106
7,9, 18,24, 51, 2 , 1507204
(A) 27¢9B) 69 ,(C) 28 (D) 68
o0d. cq, 2
(A B) 'pde (C) st (D) opq
A @ta was sed to meet her friend

at\noon every Sunda{.zThe first day

) iend came at 12.30, the next
i 1,20, then at 2.30, then at
4400. When did the friend turn up the

’ e after that ?

< ) 5.00 pm (B) 5.15pm
(C) 540pm (D) 5.50pm
47. There are two ures, 1/2 litre

measure and 1/8" litre measure in a
shop. One n came to the shop to
buy 2% litres of oil. What is the
minimum number of times he has to
measure using both measures to get
the required quantity of oil ?
A)4 (B 6 (© 7 DS
48. Some equations are solved on the
basis of certain system. Find out the
correct answer for the unsolved
equation on that basis.
1+5=62,3+2=34,7+1="
(A) 72 (B) 28 (C) 27 (D) 82
49. If RAMESH is written as 357912
and SITA is written as 1405, then

SAMIR is written as
(A) 15473 (B) 15743
(C) 14753 (D) 14573

50. If p means —, q means +, r means +
angs means X, then 16p4q (5s8) 12 =

(A) 8 (B) 32 (C) 20 (D) 12

SPACE FOR ROUGH WORK
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Part-b

58. The winning candidate in the

GENERAL A
5. The largest component of National
Income in India is
(A) Service Sector
(B) Agriculture

(C) Industrial Sector
(D) Trade Sector

\!52./ Transfer payments mean
(A) Old age pensions.
(B) Unemployment compensations.
(C) Social security payments.

(D) All the above,

J{ In a developing country like India, in
which sector a high rate of disguised
unemployment exists ?

(A) Corporate Sector

(B) House-hold Sector

(C) Service Sector

(D) Agricultural Sector P

54. A holding which will yield the
farmers at least a subsistence is
known as
(A) Optimum holding
(B) Marginal holding
(C) Economic holding
(D) Subsistence holding

\;B./ Which activity is not included in

production ?

(A) Production of wheat by a
farmer

(B) Production of medicines by a
company.

(C) Services given by a nurse in
hospital. »dd

(D) Services done by a house-wife :

in her own house.

‘Sf( Who of the following™ ienjoy
constitutional position ? [ <
()] Emance Commission v <
(2) National Development €
(3) Election Conimission -
(4) Planning Commission
(A) 1,3N B) 152
€ 2.4 D)=2,3

57. One of the following is the smallest
(area-wise) Lok Sabha constituency
in India :
(A) " Chandni Chowk
(B) Delhi Sadar
(C) . Kolkata North-West
(D)  Mumbai South

VG 2012
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Election of President of India should
secure
(A) M?i'ority number of votes

go ed.
(B) Sixty six percent of votes

g_olled.

(C) Fifty percent of votes polled.

(D) More than fifty percent and
majority of the total votes
polled.

59. The Supreme Court of India was set

up:
(A) By the Constitution
(B) By alaw of Parliament
(C) By a Presidential Order
g Y G
class struggle and lovefor property
can be reduced by ., &
(A) Decentrali A ©
aration u om
Executive ﬂ,, . W
(D) Trusteeship
e battle of Plassey was fought

Company and Shah

‘g) East India Company and
“. . Shujaudduala 4
) 4 (C) "East India Company and
' Sirajuddaula
. ) East India Company and
y Anwaruddin _
62. Name the Pakistan Prime-Minister
\{vgho signed the Simla Agreement in
72.
(A) Ayub Khan
(B), Yahya Khan
(C)  Z.A.Bhutto
(D) Benazir Bhutto
The Non-Cooperation Movement

s
o

started in
(A) 1870 &B)) 1920
(C) 1921 ) 1942

Who was the Nawab when Dalhousie
annexed Awadh in 1856 ?

(A) Nasiruddin Mahmud Shah
(B) Wajid Ali Shah
(C) Shuja ud Daula
(D) Alivardi Khan




65. Rana Pratap Singh of Mewar was
defeated by the Mughal army in the

battle of
(A) Mewar (B) Chittor
(C) Haldighati (D) Udaipur

The burst of monsoons in the month

of June brings rain to

(A) Kerala and Karnataka

(B) Kerala and Southern coast of
Tamil Nadu

(C) Kerala, Tamil Nadu and parts
of Andhra Pradesh

(D) Kerala, Tamil Nadu and
Karnataka

The typical natural vegetation above

3600 metres on the Himalaya is

(A) alpine grassland

(B) alpine forests

(C) coniferous forests

(D) subtropical pine forests

Delhi gets winter rainfall due to

(A) south west monsoons

(B) north east monsoons

(C) conventional rain

(D) western disturbance

. The monazite sands on the Kerala
coasts, used for generating nuclear

.

energy contain
(A) platinum (B) copper
(C) uranium (D) bauxite

B 70. El Nino occurs over

= (A) Atlantic Ocean
(B) Indian Ocean

(C) Pacific Ocean

(D) Mediterranean Sea

7¥. Todine solution is used to test the

presence of
(A) Sugar (B) Proteins
(C) Starch (D), Fats.

J/{ All are protozoan diseases except
A (A) Elephantiasis
v (B) Oriental sores
(C) Sleeping sickness
(D) Kala-azar
J’./ Transfer of genetic.information from
pn;. generation to the next generation
is by
(A) RNA

| (B) Codon
Which of the following is a true fish ?
(A) Silver fish (B) Star fish

(C). DNA"
(D) * messenger RNA
JA
. (C) Dog fish (D) Shell fish
VG 2012

\/ . The largest invertebrate is a/an
(A) Sponge (B) Mollusc
(C) Arthropod (D) Echinoderm

. The basic structural and functional
unit of living organisms is
(A) Cell (B) Tissue
(C) Organ (D) Systems

. When two ice cubes are pressed
together, they join to form one cube.
Which one of the following helps to
hold them together ?

(A) Hydrogen bond formation
(B) Vander waals forces

(C) Covalent attraction

(D) Dipole interaction

JL./ Electric fuse is an alloy of
(A) tinand lead
(B) zinc and lead

(C) copper andiron
(D) carbon dnd tin

79. The chemical used for cloud seeding
for artificial rains is:
(A) Silver Nitrate
(B) Potassium Bromide
(C). sSilver Iodide

(" (D) Potassium Nitrate

80. Microphone is a device which
‘transforms the
(A) sound signal into current signal
(B) current signal into sound signal
(C) sound signal into light signal
(D) light signal into sound signal

A ____ is an input device, which is
used for converting pictures, maps
and drawings into digital form for
storage in computers.

(A) OCR (B) OMR

(C) MICR (D) digitizer

In C language, the formatting
character should be preceeded by the

B2

symbol :
(A) + B) /
© % D) -
33./‘ Which among the following is liquid

non-metal ?
(A) Mercury (B) Bromine
(C) Water (D) Alcohol

14 287 MM 2
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Jﬁ.

Pressure Cooker cooks faster because
(A) boiling point decrease with rise
of pressure
(B) it cooks the food at low
ressure
(C) higher temperature is attained
for cooking
(D) the material of the cooker is a
good conductor
85. In silvery paints, the main constituent
present is
(A) Aluminium powder
(B) Silver powder
.(C) Lead powder
(D) White lead
When a strong beam of light is
passed through a colloidal solution,
the light will
(A) be scattered
(B) pass unchanged
(C) be absorbed

92. For which of fertilizer, India is
fully de; nt on imports ?

(A) Nitrogen Fertilizer
(B) Phosphatic Fertilizer
(C) Potash Fertilizer
(D) None of these

93. Ban Ki Moon, the present Secretary

General of U.N.O., belongs to

(A) Austria

(B) China

(C) Republic of Korea

(D) Japan ! !
94, The caves of Ajanta and Ellora

belonged to : :

(A) Jains (B) Buddhists

(C) Hindus (D) Sikhs

(D) be reflected ;
. Carbon monoxide poisoning can be
cured by .7 ,
@) ?e%gs;nxgyéheg.affe person 9 . The 6 medals which
(B) eating butter. sportsmen have bagge
(C) drinking lemon-water. London Ol
) consuming multi-vitamin 3
tablet. ®) 3
/" Which of the following phenomena hnd Hadmintdn. A [
is supposedly associated with global () DA e Sae s
e S theit Oscill ~n "
A outhern illations R— stling. . . —
(B) ELI 1§i_no westung, bt - Boxing
a mo » : - - o =
u«ED% El Nino Modiki ! 7. %ﬂ try’s 12® Indian Institute of
A thglﬁ one of ?the following is a4 ; e g%t (M) hes been started
greenhouse gas _ - T Rz achiy S g L
: o | % (&) Rashipur  (B) Dehradua
e | )% (© Haridwar (D) Haldwani
(C) Carbon dioxide ' \98/ Which one of the follovnn% plant is
(D) Sulphur dioxide used to treat blood pressure ¢
\,90./ Which of the following, i (A) Sarpagandha (B) Nesm
method/process,of disp (C) Babool (D) Tulsi
waste which! a@ot b 99, Subject matter which Manu Smriti
recycled? T8 ° deals with is related to
(A) Landfills : (A) Economics (B) Politics
(B) Incgﬁ%on D Ly (C) Law (D) Art
(C) Py ¢.and Gasification 100. Who has authored the book ‘Straight
(D) All the above From the Heart” ?
91. The world’s largest producer of (A) Kapil Dev
desalinated sea water 1is (B) Kapil Sibal
(A) Kuwait (B) Iran (C) Kapil Srimohan
(C) Saudi Arabia (D) Iraq (D) None of the above
VG 2012 16 287 MM 2




Part-c¢
QUANTITATIVE APTITUDE
yl./100x10—100'+2000+100=? 107. 3 menfam‘ix: e-ﬁ:mpleteg
(A) 29 AB) 920 iece of work in ° ﬂlp. men an
boys can do the sam
(© 980 (D) 1000 days. Then 2 men

{l}Z/A person gives %-of his property to

. 1 : 1
his daughter, 5 to his sons and 3 for
charity. How much has he given

away ?
. 19
) 9
© 710 @ 1o
103 1f (1101)? = 1212201, find the value
of A[121.2201 .
A) 110.1 «®) 1101
(©) 1,101 D) 11.001

104. If p, g r are in Geometric
Progression, then which is true
among the following ?

@ =5 @ g = @

() q=+lpr « cnav__,,s"q

105. TheHCF&GCD&@a, bis 12, a, b
are posmveamtegem‘%nd a>b>12
The smallcst values of (a, b) are

(A) 12,24 AB) 24,12

C)y 24,36 (D) 36,24
J,Q(A; and B can separately do a piece of
work in 6 days and 12 days
respectively. How long will they

ﬁmsh the work in number of

(A) 175

C) 8 '
1 Hammngmblemlh.
T 6,000 w to

2 5,500, m wﬁscount

allowed on the IS S

(A) 10% (__B)le

 ®) a—% ®) 9%
_ of manufaum:nf a ta
- '-l- des £ 4 1,500 mm};
‘the marked price 20% above the

-r ' manufacture and allows a
scount in such a as to get a

(A) 12 B) 8
(€) 20 (D) 10

. The length and pmm of a
rectangle are in the ratio 5 ; 18. Then

lengﬂlandbmadmmmmﬂ:erano
(A) 4: (B) 3:5
5: 4 (D) 4:7

. The number to be added to each of
the numbers 7, 16, 43, 79 to make the
numbers in proportion is

A 2~ B) 3
AC) 5 D) 1~

2. The avera monthly expend1mre of a
famil ge T 2,200 dunn first three

months, ? 2,550 durmg next four
months and ¥ 3,120 during last five
months of the year. If the total savings
during the year was < 1,260, what is

‘together take to do the work ? the average monthly income ?
W (A) 9days  (B) 18days @ ?’?‘Bao Y®B) 71280
~(C) 6 days QY 4 days C) %2805 (D) % 2.850
SPACE FOR ROUGH WORK
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\98/5 years ago, the average age of P and
Q was 15 years. Average age of P,

%

A
VX o

n_"}
/CJL{ 3
* 9

115. Ramesh bought

< ov Y
3

3

and R today is 20 years. How ol
will R be after 10 years ?

(A) 35 years (B) 40 years
~(C) 30 years (D) 50 years
114. How much percent above the cost
price should a shopkeeper mark his
goods so as to earn a profit of 32%
after allowing a discount of 12% on

the marked price ?

(A) 50% ®) 0% @S¢

(C) 60% (D) 45% d
cles for T 500 LS

each. He spen 2.011'3, on the repair of

all cycles. He sold five of them for

% 750 each and the remaining for ¥ 550
each. Then the totalgamorloss%m

(A) Gamong% (B) LossofB':.;%

Grs® (C) Gainof 5% (D) Lossof 5%
U
%/Ugf; . What percent of 3.6 kg is 72 gms, ?
(Ag (B) 22
e € 12 (D) 2 ,
M 90% of the students in school passed
in English, 85% assed | in
5{569/ Mathematics and 150 students passed
in_both the subjects. If no student
failed in both the subjects, find the
\ x\# total number of students.
w (A) 120 g 220
v (© 200 D) 300
- &8’ The speed .B'Lmﬁscc when expressed
»q\if\ in km/hout becomes ),
- (A) 8 B) 9
(©) 10 (D) 12

g 119.

qu\ are metre is
ﬁ; f904’750 ;

121. An exterior angle of a regular
polygon is 72°. The sum of the
11@10;6%11 es is B) 480°
(& 350° (D% 540° (¢

122. The radii of the base of a nd a

oonearemthemno@

T

124, A hall 25 metres 1o

broad is surrounded
W1dth of 3

oormg

? 8146.50
T4186.50

lﬁ A cone and a hemis Lghel?e stand on
ual base and have the same height.
e ratio of their whole surfaces is

A) V2+1:3  (B) \2-1:3

©) +2:3 (D) 2:3
126. Two cubes of sides 6 cm each are
sidle by side to form a
rectangular parallelepiped. The area
gn fs‘gc t‘;:;11) of the wi elole surface of

e ar parall
ng 432 gipl%eﬁ%
C) 396 : 340

127. The expression x* = 2x? + k will be a
ect square when the value of k is
é; 2 1

The sumd of moneyf r%ra; zgi.cgdq a =4 =
compoun interest o uring W ==
)\-‘ég' t}}f)se%o:d ear at 5% alg42000 128. The aoreil?i_ogndedb th: ]ixj:l::-,s__”x‘5 ('Oui
g .—\{?’%C) e8 000 D) 2 57000 square units) is :
+5°'120, A solid hemisphere is of radius 11 cm. (A) 2 ® 23
Tl D NRER BEs !
(C) 760.57 (D) 860,57, A © 2 D) 3

LA
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129'

130.

131.

132,

- T -
Ifxxsrealx+x¢0andx3+13—0,

4
then the value of (x "'3:1-] is

() 1s B 2s
Ifx+%=3. then the value of
[.15 +f5] is

BB BB

If a+b+c+d=1, then the
maximum value of (1 + a) (1 + b)
(1+c)(1+d)is

@ 1 ® (3
o = of
A chord of a circle is equal to<its

radius. The angle subtended by this
chord at a point on the circumference

136.

Two parallel chords are drawn in a
circle of diameter 30 cm. The length
of one chord is 24 cm and the distance
between the two chords is 21 cmaThe
length of the other chord is

(A) 10cm
(C) 12cm

( SN
) 2
.@flftan'ietanzﬁ=l,thenﬂ:evalue of

a the Eimoa‘ajjor segment (%35) - | tan 38 is =3 1
(C; 900 (D) 309 '-_)'_-'. | (A) '\15 (B) _vg
133. The angle between the ex 1
bisectors of two angles of. _,é‘an (©) D) -3
is, 608‘1. Then the télv;q ngle of %: 75
triangle is .y = 140. If tan © = 2, then the value of
Eé; égz & ggo 8sin O + 5 cos 8
134. AB and CD are two parallé] chords on sin@+2cos’0+3cosQ
the oppaosite sides of the centre of the (A) 251 (B) %
circle. If AB = 10 cm, CD = 24 ¢m 7 16
and the radiug of the circle is 13 cm, © 3 D) T
' %a%m e 141. If 7 sin + 3 cos?0 = 4 (0° < 8 < 90°),
) . 16cm 8:3); 18 cm then value of 6 is
135, In a right angled A ABC, ZABC = 90°; (A) T ®) n
.ngperpendzcularwka,.@B=6cm, 2 3
R g e ATNGE 16 © = o =
{C} 3:16 8.3)3 1:4 6 4
G, e SPACE FOR ROUGH WORK
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The graph shows the production of wheat
in different years of a particular State,

Study the graph and answer Questions
(142-145).

1500 4
5y =

4 1300 4

-

Pmda:hmnl’whmin(}mn
ST

1995  199% 1997 1998 1999 2000 2001
Years—y

142. The year in which the production

reached maximum is
(A) 1995 (B) 1997
(C) 1999 (D) 2000

\_1}3./’1'110 percentage increase’ in
production of wheat from 19__9’?-%9?98
is 4 .

(A) 100% B) ;;o%
© %% » @ ){ MA20%
¥ B ] 1

144. The year whichhad the percentage of
decreasé vis-2-vis its previous year in
production as ]:,3% % is
(A) 9697 | (B) 9596
(€)7,99-2000¢ (D) 2000-01

}}(‘I’he toi‘ﬁgroduction from the year

1995 to 1998 (in quintals) is

Following is the pie-chart showing the
spendings of a family on various items in a
particular year.

2(C 2:5

4. If‘the total amount spent on the
family during the year was T 50,000,

low much they spent for _buying
clothes ?

AA) 6,250 (B) 6,500
(€ T7.250 (D) ¥7,500

148. If the total amount spent on the
family during the year was ¥ 35,000,
the amount spent for study of
children and food together was

AA) 19,250 (B) ¥19,500
(C) 19,750 (D) 19,850

\149: Angle of the pie chart representing
the expenditure on entertainment is
A) 15° (B) 10°
C)* '36° (D) 12w%°

150. If the difference in the amount spent
for buying clothes and house
maintenance was ¥ 1,500, how much
they spent for house maintenance ?

(A) 93000 (B) 3100 (A) 5000  _4B) Z6,000
(C) 3200 (D) 3300 (C) 7,000 (D) T 8,000
s B AMD SPACE FOR ROUGH WORK [ﬂ.
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Part-d
ENGLISH LANGUAGE

Directions : In Question Nos. 151 to 155,
some parts of the sentences have errors and
some have none. Find out which part of a
sentence has an error and blacken the oval
(@) corresponding to the appropriate
letter (A, B, C). If a sentence is free from
error, blacken the oval corresponding to
(D).

\'é;. The Vice-Chancellor / wants all vacancies

(A) (B)
/ to be filled up. / No Error.
© D)"

152. In world of ours / one has to compete /

(A). B)
for almost everything., / No Error.
(©) D)

As. Bose is / more popular than /

(A) (B)
any student in the class. / No Error.
© (D)

£
: !
@ How is Surrinder / going with/ |
(A) . W
his work ? / No :
© D) y

it
55, Itissaid/ mmis}nisnot being

(A) (B)
opencd / forthe last fifty years. /
. < ()7 <
No Error.
(D)
VG 2012

Directions : In Question Nos. 156 to 160,
sentences are given with blanks to be filled
in with an appropriate word(s). Four
alternatives are suggested for each
question. Choose the correct alternative out
of the four and indicate it by blackening

the appropriate (@) oval.

‘456- Many women in developing
countries experience a cycleg poor.
health that ____ befi are
born.

(A) originates ives
(C) begins (D) establishes

ancestors had immense din‘;ﬁculty

procuring books.
(A) for (B) of
(C) in (D) on
. Tasked himif I ______ borrow his

car for a day.

(A) will (B) could
(C) can (D) should

3}( Work hard so that you

(A) sb@ll get good marks
(_B) will get good marks
(C) may get good marks
(D) should get good marks
' 287 MM 2.




given words.

Vlﬂf wholesome

(A) complete
(C) sound

\_;62./ infirm
(A) unsteady
(C) nervous

Vw{::.ordial

(A) affectionate (B)

(€) friendly

(C) important

Mstemaﬁcaﬂy
(A) scientifically

(B) technically

(C) methodically
(D) symmetrically

Directions : In Question Nos. 166 to 170,
choose the word opposite in meaning to the

given word.

166" impetuous
(A) agitated
(C) cautious

‘}W. approached & &
(A) retreated © (B) reached
(© amvﬁgl (D) Areproached
‘]/68./' culmination v
(A)"“completion (B) climax
(C) conclusion (D) beginning

28T MM 2.

Directions : In Question Nos. 161 to 165,
out of the four alternatives, choose the one
which best expresses the meaning of the

(B) ripe
(D) desirable

(B) timid *
(D) weak

generous
(D) kind

(B) principal
(D) immediate

_ Q
gy,

(B) impulsive™

- A'
(D) m?qss.\ 19
5 I y

"é. include

(A) embrace (B) embody

(C) eliminate (D) enclose
170 unpredictable

(A) pliable # (B) reliable

(C) possible (D) potential

Directions : In Question Nos. 171 to 175,
four alternatives are given for the
Idiom\Phrase underlined in the sentence.
Choose the alternative which best
expresses the meaning of the Idiom\Phrase.

J:Ff If you want to be happy, cut your

coat according to your cloth.
(A) be honest in your dealings

(B) work according
capacity |
~(C) live within your means

(D) don’t be too ambitious AR

__¥72. She broke down in the middle of her
speech.
(A) couldmotproceed.
B) felldowno,
(C) became angry
(D) cried " 4

He lays n%g t fifty percent of his
income on bonds and shares.

(A) _allots
(C) donates

J%/ I will do the work if T am allowed a

"~ free hand in the choice of materials.
AA) complete liberty
(B) an expense account
(C) to employ men to work
(D) unlimited funds

75. He is as hard as nail, never moved by
anything.
(A) tough
AB) emotionless
(C) physically strong
(D) hard working

29 VG 2012
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Directions : In Question Nos. 176 to 180,

a part of the sentence is underlined. Below
are given alternatives to the underlined part
at (A), (B) and (C) which may improve the
sentence. Choose the correct alternative. In
case no improvement is needed, your
answer is (D). 9

@I give key to my wrist watch
everyday.
(A) wind down
(B) wound up
(C) wind
(D) No improvement

175. We did a test when the lights went
out, :
(A) have been doing
_(B) were doing
(C) had done

(D) No improvement

ey{'l‘he frightened convict wept for
mercy.

(A) mumbled
_(B) pleaded
(C) shouted
(D) No improvement

179. He put up a lot of work on that

article.
_(A) putin 4 , |
(B) putdown & :
(C) putover _ K
(D) No improve %
4
180. The
lowly meal.
(A) mis
AC) m agre
D) provement
V62012

Directions : In Question Nos. 181 to 185,
out of the four alternatives choose the one
which can be substituted for the given
words/sentence.

JA One who eats human flesh.
(A) Carnivore  (B) Herbivore
(C) Glutton /(D) Cannibal
Liable to be easily broken.
(A) Weak @) Brittle

/ (C) Thin (D) Hard

83, One who is out to destroy the
Government.

4A) Anarchist (B) Villain .
(C) Criminal (D) Enemy |

.1‘4 One who loves all mankind. . (
(A) Philologist
(B) Philosopher \
(C) Philanthropist q
(D) Philatelist M
)é. A person who cannc a

&

mistake

uestion Nos. 186 to 190,
ere are i erent words out of which
one is.eorrectly spelt. Find the correctly
spelt word and indicate it by blackening the
yppropriate oval .

186. (A) Consistency (B) Consistancy
(C) Consistensy (D) Consistansy

M (A) Adolscence (B) Adolesence
£C) Adolescence (D) Adolescense
(A) Beligerant  (B) Belligerent
(C) Bellijerent (D) Beligerrent

\lp. (A) Dynosaur ¢B) Dinosaur .
(C) Dinosor D) Dienosaur”

_19{ (A) Pariphery  (B) Periphary
(C) Pariphary (D) Periphery
287 MM 2




Directions : In Question Nos. 191 to 200,
you have a passage with 10 questions
following the passage. Read the passage
carefully and choose the best answer to each
question out of the four alternatives.

Jazz had its beginnings in song. Its
roots lie deep in the tradition of Negro folk
smgmg that once flourished throughout the
rural Southland of the United States before
the Civil War. The Negro, in those days,
owned only a few crude musical instruments
which hé made for himself from boxes,
barrels and brooms. His voice was his

rincipal means of musical expression.
ongs of work and play, trouble and hope,
rosé on rich and rh ¢ voices everywhere
in the South — from peddlers crying their
wares to the countryside, from work gangs
on the rail roads, from families gathered at
the days’s end to sing away their weariness
in their unpainted cottages overlooking the
cotton fields, from the wayside churches
singing with the sounds of Sabbath praise.
ese were the voices which the
early Negro musicians imitated and
transferred to their horns when they taught
themselves to play the discarded band
instruments that come into hands at the
close of the Civil War in the eighteen-
sixties. As played by their proud Negro
owners, the instruments became extensions
of the human voice — “singing horns”
which OrEened the way to Jazz. For this
reason there has always been a strong,
singing quality to Jazz.
191. Where do the roots of Jazz lie ?
(A) In the songs sung in the urban
Southland of the United States.
(B) In the songs sung on railroad
%nan S.

(&) church hymns.

D) In Negro folk singing.

[

192 The Negro owned ____ musical
instruments. \
(A) onlyafew (B)/ many
(€) no » (D) the'main

. Where and when ‘did “Negro folk
singing flourish ? !
(A) In the urban Southland of the
United States after the Civil War.
(B) In the United States at the end
of the Civil War.
(C) _In the, Southland during the
Civil War.
(D) In the rural Southland of the
United States before the Civil War.

287 MM 2
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jyzt Who sang the folk songs ?
(A) The reliﬁious groups.

(B) Voices

South.

(C) The early Jazz musicians.
_AD) The Negro musicians.

198. Where were the folk songs sung ?
~”  (A) Everywhere
(B) In the churches only
(C) On the railroads, in the cotton
fields and in the churches
(D) urban

Everywhere in the
Southland
6. Which of the following statements is
true in the context of the passage ?
The early Jazz musicians
(A) were familiar with the instruments
they were learning to play.
(B) were not familiar with the
instruments they were learning .
to play. (
(C) knew about the rules of music.
(D) were taught to play ‘the
instruments.
: . What opened the way to Jazz ?
(A) e discarded musical
instruments.
(B) The crude band instruments.
(C) The musical instruments made
fromboxes, _
(D) “Singinghorns”.

98. Which of the fo]_lqg#in'i statements is
false in the context of the passage ?
(A) The early Jazz musicians
- »extended the range of their horns.
(B) The band instruments became
©

extensions of the human voice.
Jazz has always had a strong,
singigg quality. :
(D) The Negro’s voice was not his
principal means of musical

expression.
dﬂ( The phrase ‘sing away in the
assage means
A) sing songs at the end of a tiring day
(B) sing songs to forget
(C) sing songs to make the worry
disappear
(D) sing songs to draw attention

om everywhere in the

Which of the following is the most
aR ro%riate title for the fpassagc ?
( 5’ he tradition of Negro folk

(200,

sin,

Th%gjng horns’

The early onigins of Jazz
The history of Jazz

(B)
(C)
D)
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